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高校 2年生対象 読解問題（第２回） 

 

１ 

  (a)It is true that we know more of psychology (b)and history than 

any previous civilization, but (c)what we know is still absurdly limited. 

 

(1) 下線部(a)の it と同じ用法の it を含む文はどれか。以下の中か

ら選びなさい。 

① It is impossible that he solved the problem. 

② It is in this park that I take a walk every day. 

③ You have a pretty dog. I want it. 

 

(2) 下線部(b)の and がつなぐものとして適切なものはどれか。以

下の中から選びなさい。 

①psychology と history 

②of psychology と history 

③psychology と history than  

④of psychology と history than any previous citizens 

 

(3) 下線部(c)を、which を用いて書き換えなさい。 

 

 

２ 

  The unfortunate thing is (a)that (b)it is the differences that are being 

emphasized rather than the likeness. 

 

 

 

 



 2 

(4) 下線部(a)の that と同じ用法の that を含む英文はどれか。以下

の中から選びなさい。 

①He is the man that loves Mary. 

②He knows that Mary loves him. 

③He knows the fact that Mary loves him. 

④He knows that old lady. 

 

(5) 下線部(b)の it と同じ用法の it を含む文はどれか。以下の中か

ら選びなさい。 

① It is impossible that he solved the problem. 

② It is in this park that I take a walk every day. 

③ You have a pretty dog. I want it. 

 

３ 

Children form attachments to objects at an early age. Most 

children select a blanket or toy animal to cherish. Usually (a)it is one 

that they have nearby as they fall asleep. 

 

(6) 下線部(a)の it と同じ用法の it を含む文はどれか。以下の中か

ら選びなさい。 

① It is impossible that he solved the problem. 

② It is in this park that I take a walk every day. 

③ You have a pretty dog. I want it. 

 

４ 

Nobody finds (a)it easy to quit smoking once you get into the habit. 

And I understand it very well. I’ve managed to quit smoking, (b)so I 

know very well (c)that it is difficult (d)to break this bad habit once and 

for all. 
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(7) 下線部(a)の it と同じ用法の it を含む文はどれか。以下の中か

ら選びなさい。 

① It is raining now. 

② He knows it impossible to make Mary love him. 

③ You have a pretty dog. I want it. 

 

(8) 下線部(b)の so の品詞は何か。以下の中から選びなさい。 

①前置詞  ②副詞  ③接続詞 ④形容詞 

(9) 下線部(c)の that と同じ用法の that を含む英文はどれか。以下

の中から選びなさい。 

①He is the man that loves Mary. 

②He knows that Mary loves him. 

③He knows the fact that Mary loves him. 

④He knows that old lady. 

 

(10) 下線部(d)の不定詞の用法を答えなさい。 

① 名詞的用法 

② 形容詞的用法 

③ 副詞的用法 
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（解答） 

１ 

(1) ① 

(2) ① 

(3) the thing which we know 

 

２ 

(4) ② 

(5) ② 

 

３ 

(6) ③ 

 

４ 

(7) ② 

(8) ③ 

(9) ② 

(10) ① 

 

解説 

記号解説 

[ ]：節 ( )：句 { }：等位接続詞がつなぐもの 

１ 

  (a)It is true [that we know more of {psychology} (b)and {history} 

than any previous civilization], but [(c)what we know] is still absurdly 

limited. 

 

(1)下線部(a)は、that 以下を受ける形式主語。①の it は形式主語、

②の it は強調構文を作る it、③の it は前述の名詞を受ける代名詞

の it である。 
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(2)and は等位接続詞。同じ品詞の語を接続することが大前提。 

 名詞 and 名詞  形容詞 and 形容詞など。名詞 and 副詞 

などは「等位」ではないため不可。 

 

(3)what の用法を区別しよう。 

 関係代名詞の what は「もの」「こと」と訳出。 

 疑問詞の what は「何」と訳出。 

 

２ 

  The unfortunate thing is [(a)that (b)it is the differences [that are 

being emphasized rather than the likeness]]. 

 

(4)下線部(a)の that は名詞節を作る接続詞の that。①の that は関係

代名詞、②の that は名詞節を作る接続詞の that、③の that は同格

節を作る接続詞の that、④の that は指示形容詞の that である。 

 

(5)下線部(b)の it は強調構文を作る it である。選択肢の解説は１

の(1)を参照のこと。 

 

３ 

Children form attachments to objects at an early age. Most 

children select a blanket or toy animal to cherish. Usually (a)it is one 

that they have nearby as they fall asleep. 

 

(6)下線部(a)の it は前述の名詞を受ける it である。ここでは object

を指す。選択肢の解説は１の(1)を参照のこと。 
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４ 

Nobody finds (a)it easy to quit smoking once you get into the habit. 

And I understand it very well. I’ve managed to quit smoking, (b)so I 

know very well [(c)that it is difficult ((d)to break this bad habit once and 

for all)]. 

 

(7)下線部(a)の it は形式目的語の it である。①の it は天気を表す

it、②の it は形式目的語、③it は前述の名詞を受ける it である。 

 

(8)so は文と文をつなぐ等位接続詞の役割がある。 

 

(9)下線部(c)の that は名詞節を作る接続詞の that である。選択肢の

解説は２の(4)を参照のこと。 

 

(10)下線部(d)の不定詞句は、前述の it の内容を指す真主語。主語

になる不定詞は、名詞的用法の不定詞である。 

 

 

― END ― 

 

 

 

 

 


